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Question Id : 6863406673 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



SHTOTE] & TYTd HRd 3! Sfaem Iy F 14 RiamaR, 1949 5. F 37 gogma ¥ e & YRa-da o1
RTGTHTST §H1 WIS R a1 T | g e & a8 &1 [l 26 SHast, 10508, 21| i Ue aat 3afd 9
HRd D1 ISTHINT H1 S0 Ugd B! dul 918 H3iboll & gRI T4 &1 161 U1 9ol [hards &9 4 U8
HTRTE G T U7 5 15 T8 &t 3afs) @ 3yl 25 5Ha9). 1965 5. 7% U9 AR & 9ol WERL
HIHGTS & [0 U BT YN Jadd eial T 26 SHax! 1965 315 9 Jd & o%1 & U YT H (S0
HRd H) Hioug T8 W 3W. foa! Tewrs © 3fama of wia- ot

Sub questions

Question Number : 1 Question Id : 6863406674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HfayT & ar e B A wn g -
1. 14 FamR 1949
2. 25 ARl 1950
3. 15 GFIERI 1950
4. 26 GFIARI 1950

Options :

68634026401. 1
68634026402. 2
68634026403. 3
68634026404. 4

Question Number : 2 Question Id : 6863406675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fe<t &1 TroTHTT @1 W o e fear T
1. 26 SHa%l 1950
. 14 FoamER1949
3. 26 GFIAR] 1965

| ]

4. 15 311947

Options :

68634026405. 1
68634026406. 2
68634026407. 3
68634026408. 4

Question Number : 3 Question Id : 6863406676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

\HGH T ] f[aaH F T g

1. 3R

2. AP
3, O]

4. 3T

Options :

68634026409. 1
68634026410. 2
68634026411. 3
68634026412. 4

Question Number : 4 Question Id : 6863406677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR 1 ST BT DY (gal ° Ugd b {191 3 gian ol -
1.3%
2. Hpd

4, diad

Options :

68634026413. 1
68634026414. 2
68634026415.3
68634026416. 4

Question Number : 5 Question Id : 6863406678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

{82l B ISTHIST BT Eol &4 & 915 HI 3iUSl Bl HHB & o fba- auf & forw smawgs TH= 47 -

1. 10



68634026417. 1
68634026418. 2
68634026419. 3
68634026420. 4

Question Id : 6863406673 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

SHTOTE] & TYTd HRd 3! Sfaem Iy F 14 RiamaR, 1949 5. F 37 gogma ¥ e & YRa-da o1
RTGTHTST §H1 WIS R a1 T | g e & a8 &1 [l 26 SHast, 10508, 21| i Ue aat 3afd 9
HRd D1 ISTHINT H1 S0 Ugd B! dul 918 H3iboll & gRI T4 &1 161 U1 9ol [hards &9 4 U8
HTRTE G T U7 5 15 T8 &t 3afs) @ 3yl 25 5Ha9). 1965 5. 7% U9 AR & 9ol WERL
HIHGTS & [0 U BT YN Jadd eial T 26 SHax! 1965 315 9 Jd & o%1 & U YT H (S0
HRd H) Hioug T8 W 3W. foa! Tewrs © 3fama of wia- ot

Sub questions

Question Number : 1 Question Id : 6863406674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S ¥ o e A R F e

1.
. 25 SFaRl 1950
.15 SFERT 1950

o

4.

14 Fama 1940

26 SHaRt 1950

Options :

68634026401. 1
68634026402. 2
68634026403. 3
68634026404. 4

Question Number : 2 Question Id : 6863406675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fedl ! ITsTuTST &1 R 4 féa
1. 26 WG] 1950

.14 ¥yara1949

3. 26 SIadl 1965

[ )

4. 15 HITd1947
Options :
68634026405. 1
68634026406. 2

68634026407. 3
68634026408. 4

Question Number : 3 Question Id : 6863406676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTaLTE T 1 faad o1 §

1. 3

2. HAId D
3. ]

4. Gaﬁa
Options :
68634026409. 1
68634026410. 2

68634026411. 3
68634026412. 4

Question Number : 4 Question Id : 6863406677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
IR Bl XSTHTST T 14 feel & gt fopdy 47 & g ot
1.9%
2. HEpd
3. 3T
4. dffra

Options :



68634026413. 1
68634026414. 2
68634026415. 3
68634026416. 4

Question Number : 5 Question Id : 6863406678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

&<l &1 TSTHST &1 g5l e o 15 HI SRSl &t SHe & fore fia aul & fou sravgs gagn

1. 10

|
ok
-J

4. 15

Options :

68634026417. 1
68634026418. 2
68634026419. 3
68634026420. 4

Sub-Section Number : 2
Sub-Section Id : 686340206
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863406679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T a1 GaTH BT a8 =Y ford I = a/ag & 30 Isc) & 1Y J1d &l 98 Pel ondl g :

4. fepan

Options :

68634026421. 1
68634026422. 2
68634026423. 3
68634026424. 4

Question Number : 6 Question Id : 6863406679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST ST F4ATH BT I8 =0 forae! AieT T= 919 & 30 Ysal & 91U J1d ©1. 9 Pel aal ¢

1. FRP

-]

2. 3y
3, faQimor
4. fepan

Options :

68634026421. 1
68634026422. 2
68634026423. 3
68634026424. 4

Question Number : 7 Question Id : 6863406680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BIH-PH G e W B TR0 B -
A R™

B. UId:&Td
C. TR
D. HE%

E. Y

1.$addA.D.E
2.$ddB.C.D
3. PAUA. C.E
4.PAUC.D. A

Options :

68634026425. 1
68634026426. 2
68634026427. 3
68634026428. 4

Question Number : 7 Question Id : 6863406680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



HHE-BH G Ieg TiY & ISEI0E -

A W

B. UId:&Td
C. TR
D. HE%

E. Y

1.$addA.D.E
2.$ddB.C.D
3. PAUA. C.E
4.PAUC.D. A

Options :

68634026425. 1
68634026426. 2
68634026427. 3
68634026428. 4

Question Number : 8 Question Id : 6863406681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 gH 11 ¥ i Sl
T 1 (TR T 11 (312
A BRI 1 [ d Hds g
B. [Uti W= 1L [q¥ &A1
C. |ordi omE IR T 1L [Fea
D. [FRal &1 9 &l IV, [35d &1 9 o T

frafeied faeeal o 1 9l Gor & 98- B -

1. A-TI. B-TV. C-III. D-1
2 AL B-IV, C-1. D-III
3. A-L B-I1. C-IIL D-IV
4. A-IV. B-TT1. C-I1, D-I

Options :

68634026429. 1

68634026430. 2

68634026431. 3
68634026432. 4



Question Number : 8 Question Id : 6863406681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 g4l 11 9 e i
1 (R Tl 11 (31
A AR AT L [3ma ¥ siidie 50y
B [ael WA 11 [qF B
C. |3l e SR W L [eed
D. [Fdl &1 HIl IV. |3(d &1 ¥ ¥ 9

FFrafciad fasedl § O 98l 3O &1 944 DIl -

1. A-IL. BV, C-IIL D-I
2. A-IL, B-IV, C-I, D-IIT
3. AL, B-II, C-TIL, D-IV
4. A-IV, B-IIL C-II ., D-I

Options :

68634026429. 1

68634026430. 2

68634026431. 3
68634026432. 4

Question Number : 9 Question Id : 6863406682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 Y BHE-HH G Ust JBHS AT g

A.GleT
B. 6UAl
C.3H
D. 3T

E. HIg

-1 30 72 fadeul 3 9 96l SR &1 90 DI -
1. $dedC,A. D

. PAUE, C, A

3. %ddB. C. A

4. PddA. B.D

2

Options :
68634026433. 1



68634026434. 2
68634026435. 3
68634026436. 4

Question Number : 9 Question Id : 6863406682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST Y HH-BIF O Uss HHS har g

A TreA
B. 8-l
C.3H
D. 3ET

E. HlgH
-1 40 72 fadpeul 3 9§ 96l SR &1 S DI -
1. $da C,A. D
2. BAdE, C. A
3. BddB.C. A
4. PdIA. B.D

Options :

68634026433. 1
68634026434. 2
68634026435. 3
68634026436. 4

Question Number : 10 Question Id : 6863406683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=l 11 4l 11 9 [ iy

T @EPR) AT 11 (TE)

A fyifoa= 1 [Gre%n @ ®RUI U 9% I gudd g% 5H ol

B. [g8% 11 [ede gl &l g |

C. |erama 1L [T et H U o HIE oY 93 &l

D. [gy 1V, [Bsg] @1 3Tgic U g 314d aR T4l 38 31U T3 8l
afafad fasedl o O Gl SR &1 954 Bl -

1. A-IV. B-III. C-II.D-I
2. AL B-IV, C-III D-1
3. A-L. B-IV, C-II. D-IIT
4. A-I. B-II, C-II1, C-IV

Options :

68634026437. 1
68634026438. 2
68634026439. 3
68634026440. 4

Question Number : 10 Question Id : 6863406683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 gH 11 ¥ e Sl

G 1 (PR & 1 (Te9M)

A pitaa= 1 [Ureed & SR TS g5 DI gkl 9% O o |

B [g8® 11 [ede gurl &1 A |

C. |sramm I11. [0 2 H U 4 HI&P 31 o3 &l |

D [zem 1V, [Brs5] @1 3Tgid U T AT4S aR 7] 38 Y A3 8l
frafeiad faseedl o 8 98l SR &1 994 BT

1. A-IV. B-III. C-I1.D-I
2. A-IL B-IV. C-III D-1
3. A-L B-IV. C-I1. D-IIT
4. A-I. B-II. C-IILL C-IV

Options :

68634026437. 1

68634026438. 2

68634026439. 3
68634026440. 4



Question Number : 11 Question Id : 6863406684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&0 70 GHFUT 14:10=X: 15 EX FTHA AT -

1.20

| B

|
3.19
4. 18
Options :
68634026441. 1
68634026442. 2

68634026443. 3
68634026444. 4

Question Number : 11 Question Id : 6863406684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[4U T GHFUE 14:10=X:15 EX BITIF FT G -

1. 20

| B

21
3.15
4.18

Options :

68634026441. 1
68634026442. 2
68634026443. 3
68634026444. 4

Question Number : 12 Question Id : 6863406685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 3R B B Tl 7 3:4 1 3UG 1 A I 6] = R Yoo 1 B ¥ 20 HHe 3@ @ 31 A fFaq
o ¥ Tiqed ®F R Ugad g

—

.233"8
3

1o
Tro
&

Options :

68634026445. 1
68634026446. 2
68634026447. 3
68634026448. 4

Question Number : 12 Question Id : 6863406685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 3R B I Il T 3:4 &1 3UId 5 | A I Tided H W Uga 4 B ¥ 20 BHe 31¥% @ o | A fdhad
T ¥ 7o ®IF R U g

1.2%‘3'8
3

Options :

68634026445. 1
68634026446. 2
68634026447. 3
68634026448. 4

Question Number : 13 Question Id : 6863406686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W%T@TH? 59 QIS aX § 2 T4 H TR &76] 3R FehalG saTal 1 225 &1 SiaR 3 | o= &1 778 i
Gl

1. 26.000

| B

. 38.400
3,210,000
4.712.000

Options :

68634026449. 1
68634026450. 2
68634026451. 3
68634026452 4

Question Number : 13 Question Id : 6863406686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W%T@Tu? 5% IS aX § 2 g9 H YR 79 3R Fehals sarsl H 225 1 SiaR 3 | How &1 718 1Y
Gy

1. 206.000

| B

38,400
3.%10.000
4.3712.000

Options :

68634026449. 1
68634026450. 2
68634026451. 3
68634026452. 4

Question Number : 14 Question Id : 6863406687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U ooil- [aohal - 218/kg B & T 100 kg THICX @IS 3R 2120 HTS TR T4 (BT 3 80 kg
CHIER 225/kg 1 & I & TUT 16 kg THICY 220/kg P &3 H 99| AN THICI TRIE B4 & DRUT & 78] ol
b | SYDI oY UfdLd 3T SIU | (SRHETd & U ¥ db 9gh)

1. 15.7%
2.17.5%
3. 20.8%
4.21.6%

Options :

68634026453. 1
68634026454. 2
68634026455. 3
68634026456. 4

Question Number : 14 Question Id : 6863406687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U e0il- [ahal - 218/kg B S T 100 kg THEX @IS 3R 2120 HTS TR T (BT I 80 ke
THIET 325/ kgﬁaﬁféﬁmﬂmmwm ke I TX I s | WY THICI WG B4 & HRU &< gl o
T | 3P 1Y WA T BT (SYHTd & U H a9 )

1. F5.7%
2. 17.5%
3. 20.8%
4.21.6%

Options :

68634026453. 1
68634026454. 2
68634026455. 3
68634026456. 4

Question Number : 15 Question Id : 6863406688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U fESP! ST HBR &1 § THS FIR [P HUgT @' ¢ | Ui Ra5H! 31 uRAT 4.6 m B T 50D
HTATHR HIT BT T 0.5m 81 o1 AfgdIbR YT Bt e 31 W|£Tuke:r= E?J

del

1. 0.6m

2

. 0.8m
3. 1.4m

4, 0.7m

Options :

68634026457. 1
68634026458. 2
68634026459. 3
68634026460. 4

Question Number : 15 Question Id : 6863406688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% ISP U PR &l & D mqewﬂﬁﬁwﬁiﬁ@ﬁmwﬁﬂmm m © dUT 59%
HTATHR T B ST 0.5m BT A1 ISR LI Bt o I1a W|£Tuke:r= 2?2]

del

1. 0.6m

b2

.0.8m
3.1.4m

4. 0.7m

Options :
68634026457. 1



68634026458. 2
68634026459. 3
68634026460. 4

Question Number : 16 Question Id : 6863406689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<9 7Y T TP U 3R 51 IR S g1
A fp9 TR B 9 Wdfa 82
LCHI IHBEIB IRD.EF S 5| C T UHHHE T4 G T E I UH/AEH AT
LGP O HTIUEH I BHI THHEIEARLPI UG AFA B E ST UHUE AT
1. I Uy BT IR &1 & fAQ: 38 By 11 (347 s st sidval 81 v €|
2. afe Uy @1 3R 3 & fore: uft u= 1 e sfiss srbar ol aid g
3. 9% WY D1 IR &1 o o1 IS by 13 faan g1 oy 11 ¥ 1331 717 s SHebell 81 udi B |
4. TR UY BTTR 37 & AT AU ML 24ips Sl ol 1 3 g T Iy 9 T8l €1
Options :
68634026461. 1
68634026462. 2

68634026463. 3
68634026464. 4

Question Number : 16 Question Id : 6863406689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o9 7Y T TP UY 3R 51 SR S g1

A Top9 TR B 9 HdfUa 82

LCHIUdIBEIB IRD.Ed &=l ¢! C DI UHYH GAI G §| E DI UB/UE AT

LGH I HTIUEHNSIBHI YN HEIEARLBI TG AFA A B S| ESTUFUA AT
1. 4f¢ WY &1 IR & o (o0 afe du 14 (341 siigsy sl o1 Ui & |
2. 3% UY D1 IR 1 & 1. TS By 11 H 1347 sficvsT siebenl 51 Ui 5|
3. 3 WY BT TR &7 & g afe Sy 18 fagr gr oy n 1 301 717 3iie s siehen & 9aia 2|
4. 913 99 &1 IR &4 & [A0: 30 U sfidps el HyAl § ofifs UH 91y 997w gl ¢

Options :
68634026461. 1



68634026462 2
68634026463. 3
68634026464. 4

Question Number : 17 Question Id : 6863406690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& 7S oRge H ST g 1 SBifere

| s

k2

[

8.1

Ln

28,

Ly

1. 90

[ B}

.91

.03

[F¥]

4.94

Options :

68634026465. 1
68634026466. 2
68634026467. 3
68634026468. 4

Question Number : 17 Question Id : 6863406690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

& TS oRge H 3Ta ug §1d B -

1?2

k2

L

8.1

L

28,

n

1. 90

2:01

.93

L¥¥]

4.94

Options :

68634026465. 1
68634026466. 2
68634026467. 3
68634026468. 4

Question Number : 18 Question Id : 6863406691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Ue e gd fa=n 1 3iR 08 33 @S ¢, 8 Us! 3 fax & 45° W gSal ¢ 1 98 SN us! &l faxn g
%D?HG;T% R o uSl & armrad (Faudia) faxn &1 eiR270° gsai g1 3@ a8 foy i &t iR 4
T3l gl

1. JTR-ufam

 FW-gd
. af&ur-gfam
. &lgmigd

Options :

68634026469. 1
68634026470. 2
68634026471. 3
68634026472. 4

b

L¥]

e

Question Number : 18 Question Id : 6863406691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U e gd (=1 @1 SR Ug b WSl . 98 Uo! 3l (G H 45° W ESdl ¢ | 98 alaRI Us! i [qen
%ﬁﬂﬁgﬂ% IR fipr St 31 amrad (i) femn &1 siRz70° gaar €1 o o8 for fezn &t iR dg
wal gl

1. ITR-OfEm

2. 3TR-yd
. Sf&oraigg
. glgmgd

Options :

68634026469. 1
68634026470. 2
68634026471. 3
68634026472. 4

-]

(%]

fea

Question Number : 19 Question Id : 6863406692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 1 py, QU 70 S &1 guiaar grer &l 7

B : P.C.M IR & R Ug & fou Faid gt 4 of 9aeik te geuiiad 3uiigar g
=Py 1. o GaeR, P.C.M $RH & Hoxe & g% W 97 oy e |
11 41 FadR P.c.M SRIF & % & Ug UR g1 I S0 |
1. ad FpY 1 SR Sl g
2. ad (5HY 1T STER0 Bl g |
3. @0 W s Fspy 1 9711 SFRU Sl 6 |
4, BI5 i P 1 O1 11 38R0 98] @Xdl © |

Options :

68634026473. 1
68634026474. 2
68634026475.3
68634026476. 4

Question Number : 19 Question Id : 6863406692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I I (epy, QU U S o1 guiaar urer Bl o7

HYF : P.C.M IRIF & Howa ug & e 9gia 3=t 3 4 90k U gedTiad SHEar g
=Py 1. ff GaeR. e M HRH & Hawe & ug W 7 fo ||
1L 91 FdaR P.C.M SR & (e & Ug 0 78] g S|
1. Pad [Py 1 SFHR0 Bl 6|
2. Fad [FEY 11 3THR0 HRaAl 3 |
3. I Ul U (v 1 U7 11 SERU Rl B |
4. g 1 Fsepy 1 97 11 SER0 781 B € |

Options :

68634026473. 1
68634026474. 2
68634026475. 3
68634026476. 4



Question Number : 20 Question Id : 6863406693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1).(2).3) $IR () T 4l 715 STRAPIaTl § 9 B Ul IR HIpid, did 1 g1 775 Spid 2 & gfd Hdl g

Y ST IR AP

% . *
)\. = b = » X x X X
* A, 2 w oMo M
A
w w x X X b ® o® X ® oM
o ?
: (1) (2) (3) (4)
1.1
2.2
3.3
4.4
Options :

68634026477. 1
68634026478. 2
68634026479. 3
68634026480. 4

Question Number : 20 Question Id : 6863406693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1).(2).(3) 3R (4) B &1 775 ITRAF0T H B W IR AP, Aid 7 &1 75 SPid 2 B g Bl g

Uy ST TR SHTPHA

5 S S P S
= b, 2 % HoOoK X
X WX
5 " *® x * * ¥ X X ® OH X
A 7
: (1) (2) (3) (4)
1.1
2.2
3.3
4.4
Options :

68634026477. 1
68634026478. 2
68634026479. 3
68634026480. 4

Question Number : 21 Question Id : 6863406694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y T EXgHM e Ui FHEdR |

1. BT
2. ATH Hed
3. gadg Hed
4. UBI Had

Options :

68634026481. 1

68634026482. 2

68634026483. 3
68634026484. 4

Question Number : 21 Question Id : 6863406694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Worrmaradarym . FeanR|
1. BT
2. 309 Had
3. gHdY Had
4. U HSd

Options :

68634026481. 1
68634026482. 2
68634026483. 3
68634026484. 4

Question Number : 22 Question Id : 6863406695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 ¥ e S

T 1 U T 11 I
eree i 3eE | 1L R
Ry gar | U [pales
ARl AP 3| 1L SRS
[ardig 3tg gam| v [Fe uew

FFrefaiad ol 4 O 98l 3R &1 994 S -

1. A-IIL. B-1. C-II. D-IV

olo|w|=

| B

AL B-1L C-IV. DA-II
3. A-III, B-IV, B-1. D-11
4. A-IV. B-11. C-1. D-IV

Options :

68634026485. 1
68634026486. 2
68634026487. 3
68634026488. 4

Question Number : 22 Question Id : 6863406695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=l 11 4l 11 9 [0aH S

T 1T U T 11 I
|prde v saH | 1 R
TRIPE3IgE | 1L [@ies
EEEREEEEEE B SRGEE

. [ETEgR Tt 3aE| v [FeE e

Fafaiad [deedi § O gl 3O &1 994 DIl -

1. A-IIL B-1. C-II. D-IV

o|o|w|=

| B

AL B-1L C-IV. D-II
3. A-IIT, B-IV. B-1. D-11
4. A-IV. B-1I. C-1. D-IV

Options :

68634026485. 1
68634026486. 2
68634026487. 3
68634026488. 4

Question Number : 23 Question Id : 6863406696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ SI=9g & Siiid SHg i Hidy H He" S Widd UaH $17Tg
1. 359G 226

[ ]
[ o]
=1
I

L¥¥]

. 3T=94 368
398 102

Options :

68634026489. 1
68634026490. 2
68634026491. 3
68634026492. 4

e

Question Number : 23 Question Id : 6863406696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ey oreye & ofwla Tue &I dfaer & deiy= ot uffa e St s 22
1. 355G 226
3T 274
3. 354 368
4. TG 102
Options :
68634026489. 1
68634026490. 2

68634026491. 3
68634026492. 4

[ ]

Question Number : 24 Question Id : 6863406697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICRACIC R EURI A
ST 1 ; YT & aTTHH § THT S TR HTd BT IRy 9 S ¢ |

FUA L : HUTD! & AIHEH T gl B I & PRUI 3951 ekl S 8l Sl g
1. FYA1 IR 1 S T
2. YA [ 3R 11 ST TTed ©
3. Y 1 TE! §. Widp YA 11 7Ted &
4. BYA 1T 8. Wip SYT 11 98l &

Options :

68634026493. 1
68634026494. 2
68634026495. 3
68634026496. 4

Question Number : 24 Question Id : 6863406697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁ%aﬁwﬁqw?{
HY1 ; YT P AT9HH § BT AT UR YT DT HARIY G Sl g |

FYAII : HEATAD] b dTYHH H i Bl o & BRUT 31 HicRIe &1 & Sl ¢ |
1. S 1 SR 11 & et e

Y 1 R 11 ST T §

3. YA HEI &, Wi BYF 11 7T &

4. BYA 17109d ©. i B 1 el &

b2

Options :

68634026493. 1
68634026494. 2
68634026495. 3
68634026496. 4

Question Number : 25 Question Id : 6863406698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BIH-H1 551 RIS A0 H Ry g2
1. ﬂll_* Eﬂ?
3. PIAET
4. TGRS

[ ]

Options :

68634026497. 1
68634026498. 2
68634026499. 3
68634026500. 4

Question Number : 25 Question Id : 6863406698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



HF-9 gou wd ghgn & RE g2

1. YTATa R
ARG
3. PrAai
4. IR

[ ]

Options :

68634026497. 1
68634026498. 2
68634026499. 3
68634026500. 4

Part B: Chemical thermal Polymer Engineering

Section Id : 686340134
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340207
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863406699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The probability distribution of a random variable x 1s given by P(x=#) =k for r=1.2.34

P(x = r)=0 otherwise

Find the value of the constant k.

1.k=0.2
2. k=05
3.k=0.1
4.k=1
Options :

68634026501. 1



68634026502. 2
68634026503. 3
68634026504. 4

Question Number : 26 Question Id : 6863406699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U UEfde TR (s adE) x & Wiimd sea Gefafid fedtemm) = femman g

Px=# =k r=1234

Plx=#)=0 YT
RIS | P19 Ydl ArgU
1.k=02
2.k=0.5
3.k=0.1
4.k=1
Options :

68634026501. 1
68634026502. 2
68634026503. 3
68634026504. 4

Question Number : 27 Question Id : 6863406700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: J : . ‘1|_’ . i
The general solution of the differential equation <2 —3{];'—] +2y=0.
ax” dx

1655 ey C5 e oX

| B

JCy gy e2*
3.Cye™+ Gy ™
4.0y 0™

Options :

68634026505. 1
68634026506. 2
68634026507. 3
68634026508. 4



Question Number : 27 Question Id : 6863406700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il P gHHR
Y 3@ oo 0 PTUMEFI T G :

™ x

jany

4 XKL s
.CIEK+E;~E &

| ]

; CI ﬁ‘x_ Cz EEK
3.Cye™Cye™®
5O, T

Options :

68634026505. 1
68634026506. 2
68634026507. 3
68634026508. 4

Question Number : 28 Question Id : 6863406701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: The function f(z) =[x satisfies cauchy-rienann equation at the origin but it is not analytic at
origin.

. - . . L. y
Statement II: The function f(z) = - 1s analytic everywhere.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are correct

2. Both Statement I and Statement I are incorrect

3. Statement I is correct but Statement II 1s incorrect

4. Statement [ is incorrect but Statement I is correct

Options :

68634026509. 1
68634026510. 2
68634026511. 3
68634026512. 4

Question Number : 28 Question Id : 6863406701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬂ%aﬁﬁiﬂmm%

BUT L B £ () = o] TERT/ FST H DI IH TG0 P 1 GfP el & i1 3 Iaf / qa |
foweifte g g |

PUTI1: T /(z) - - FaA IR B

Sad Sl & JfTa® 1. 4 [0 T G § ¥ 9a9 Sugad 3R &1 999 Sl

. B AR PYT I S FEl &

| )

Y 1 3R BYF I S T ©
Y1 T &, AfhT Y= 11 Tad ©
4. FYAITEA 8, AT FUT I TR 8

[F¥]

Options :

68634026509. 1
68634026510. 2
68634026511. 3
68634026512. 4

Question Number : 29 Question Id : 6863406702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The rank of a matrix is said to be r.gf

A. It has at least one non-zero munor of order r
B. It has at most one non-zero minor of order r
C. Every minor of A of order higher than r is zero
D. Every minor of A of order (1-1) is zero

E. There exist non-singular matrices P and Q such that 210 = L’ ::
Choose the correct answer from the options given below:

1. A.B. Conly

2.A C.Eonly

3.A.D. Conly

4.B.D. E only

Options :
68634026513. 1
68634026514. 2



68634026515. 3
68634026516. 4

Question Number : 29 Question Id : 6863406702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fepft At (aregg) B oIf r.of FE O §

A SHH H U HY TP 1S $HH r B YR (A1 IR BER gldl g
B. 594 SI¥@ 4 9P U (82 ¢ BT YA (19 olkl) AR 8Id1 ©
C.1 Y TR HISR (FH) FTATID AR LT el &

D. 1SR (1-1) PT A BT YIS AR T4 Blal |

E. GehHuiY 3regei (1 fETar #iges) P8Ik Q 39 YR 41U offd & fdb PAQ:[E :ﬂ

1= lGu e fae el & 3 9ad Iugdd SO) &1 99 ST,
1.Pau A, B. C

. PdAA.C.E

3. %aw A, D, C

4. $dd B.D.E

b2

Options :

68634026513. 1
68634026514. 2
68634026515. 3
68634026516. 4

Question Number : 30 Question Id : 6863406703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

A second order P.D.E in the function U’ of two independent variables X.Y given with usual symbol AUy, +

LISTI LISTII
A Hyperbolic I B2-4AC=0
B. |Parabolic I B2_4AC =0
C. [Elliptic I B2 —4AC <0
D. [Not classifies |IV. JA=B=C=10

Choose the correct answer from the options given below:
1. A-II, B-I. C-III. D-IV
2. A-L, B-IL C-IIL, D-IV
3. A-IL B-L, C-IV. D-III
4. A-I. B-III. C-II, D-IV

Options :

68634026517. 1
68634026518. 2
68634026519. 3
68634026520. 4

Question Number : 30 Question Id : 6863406703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=it 1 %1 g2 11 ¥ e S
?Wﬂﬁx.y$wwﬁ1ﬁaﬂawa D. E @I HIRI Udlth AUy + BUy, + CUyy + F(U)=0. 9 f&ar mar
dl

AT 1 e 11
A, leifomadile @EmAla®s)| I B2-4aCc=0
B. [Raais ((RE®) II. B2—4AC >0
C. [Erad @hkiivm) 11 [B2—4AC <0
D. [ailigpd el & IV [A=B=C=0
frafeied faeed & 9 9l SR &1 9 Sl

1. A-IL. B-1. C-111, D-IV

[ )

AL B-ILL C-III, D-IV
3. A-IL B-L. C-IV, D-III
4. A-1. B-III. C-II. D-IV

Options :



68634026517. 1
68634026518. 2
68634026519. 3
68634026520. 4

Question Number : 31 Question Id : 6863406704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a thermodynamic function?

1. Internal energy

J

. Enthalpy

LN}

. Entropy
4. Frictional energy

Options :

68634026521. 1
68634026522 2
68634026523. 3
68634026524. 4

Question Number : 31 Question Id : 6863406704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

fFafafEd 8 ¥ oF 91 wrfde B (yaisa-He Haeq) Tel o2
1. HTAR® Hal
2. Tl ol Fei
3. ugt
4, TNfOTE Sl
Options :
68634026521 1
68634026522. 2

68634026523. 3
68634026524. 4

)

Question Number : 32 Question Id : 6863406705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For liquids. the volume expansivity () 1s equal to

1 ==
|‘*:'Jr-;|‘l
LN (4
vier ),
L { &l
3-9\ar),
1[8F
4. Pl ar ),
Options :

68634026525. 1
68634026526. 2
68634026527. 3
68634026528. 4

Question Number : 32 Question Id : 6863406705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Zol & fore e fGeaRuTKiieaT (diegs Tamf=afaeh) (p) - & SRIeR ©

k=]
WeT )
2. I!’i“
viar),
i I['r"-i"
S EhE
v\er),
1(&V)
4. -
P'J'-T',r-
Options :

68634026525. 1
68634026526. 2
68634026527. 3
68634026528. 4

Question Number : 33 Question Id : 6863406706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o favy .
Two specific heats (Cp and Cv) are equal, when | Lﬂ—'r | 1s
VG p

100

2

“PiH
3. R/P
4.0

Options :

68634026529. 1
68634026530. 2
68634026531. 3
68634026532. 4

Question Number : 33 Question Id : 6863406706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fm

<1 fafiy S (cp 3R cv) RIS i € o :’I.(If Bidle

[ ]

PR

.R/P

L¥¥]

4.0

Options :

68634026529. 1
68634026530. 2
68634026531. 3
68634026532. 4

Question Number : 34 Question Id : 6863406707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under what condition an isothermal curve will coincide with an adiabatic curve through a point on a p-v
diagram of an ideal gas?

1.Cp=Cvy

[ ]

.Cp=Cv

Lad

Cp<Cv

e

.Cp=Cy



Options :

68634026533. 1
68634026534. 2
68634026535. 3
68634026536. 4

Question Number : 34 Question Id : 6863406707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg ofvfRufa & forelt ome™l T & p-v 3G R BT THT! O [Pl S ™ 9% W Uil s

1 Cp}Cv
2: CPZCL
3 Cp* Gy
-I.C‘pi'}C._
Options :

68634026533. 1
68634026534. 2
68634026535. 3
68634026536. 4

Question Number : 35 Question Id : 6863406708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Heat of combustion is always

1. Positive

2

. Negative
3. Zero
4. Infinity

Options :

68634026537. 1
68634026538. 2
68634026539. 3
68634026540. 4

Question Number : 35 Question Id : 6863406708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3.3
s

Options :

68634026537. 1
68634026538. 2
68634026539. 3
68634026540. 4

Question Number : 36 Question Id : 6863406709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. L . . . -
Which of the following has maximum calorific value in Keal/m™?

1. Producer gas

| S

. Water gas

3. Natural gas

4. Coke oven gas
Options :
68634026541. 1
68634026542. 2

68634026543. 3
68634026544. 4

Question Number : 36 Question Id : 6863406709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafefed 0 9 Kealm® T SR 0H 964 31 ST &
ISR TN
2. TR E
3. MI i 19
4. I i I

Options :

ik

)



68634026541. 1
68634026542. 2
68634026543. 3
68634026544. 4

Question Number : 37 Question Id : 6863406710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which would yield more energy when completely burned?

1. Methane

J

. Ethane
3. Propane

4. Butane

Options :

68634026545. 1
68634026546. 2
68634026547. 3
68634026548. 4

Question Number : 37 Question Id : 6863406710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et o 9 foe & qoid: oid o o= aifée Sl &1 wiad §idi © 2

1. 91T

Reic)
3. G
s

Options :

68634026545. 1

68634026546. 2

68634026547. 3
68634026548. 4

[ ]

Question Number : 38 Question Id : 6863406711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The compressibility factor (z) of an ideal gas is always

1.0

| ]
iy

4.1

Options :

68634026549. 1
68634026550. 2
68634026551. 3
68634026552. 4

Question Number : 38 Question Id : 6863406711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS 3M1E2 119 1 AisTal TN (2) g RGIGE

1.0

| B
—t

31
4.>1

Options :

68634026549. 1
68634026550. 2
68634026551. 3
68634026552. 4

Question Number : 39 Question Id : 6863406712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A [Chemical potential | LI [v; P/ x; P;-'g“"

B. [Raoult's law II. J”:'P = X; P;&”

xX:.[;

Sief

C. fActivity coeffictent| IIL | i

onGi

D. [Lewis' Rondall rulel IV || =
e br poy,

Choose the correct answer from the options given below:
1. A-IIL. B-L. C-IL. D-IV
2. A-IV. B-II. C-1. D-ITT
3. A-L B-II. C-III. D-IV
4. A-IV, B-IIL. C-II. D-I

Options :

68634026553. 1
68634026554. 2
68634026555. 3
68634026556. 4

Question Number : 39 Question Id : 6863406712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 ¥ e S

il o
A RreEfw v | |y Pl xR
B. frew Aam II. .VEP: x‘;ﬂ.‘s‘m

C. [gfbadrfuies | 1IL = xif

D. [g34 /= fgH 1V Ff(;]
P Ny

FFrefaiad o 4 O 98l 3R &1 999 S

1. A-TIL, B-1. C-I1, D-IV

)

2. ATV, B-II. C-1. D-III

CA-L B-IL. C-1IL D-IV

L]

4. A-IV, B-ITI. C-II. D-I



Options :

68634026553. 1
68634026554. 2
68634026555. 3
68634026556. 4

Question Number : 40 Question Id : 6863406713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

[ eP)
\er ),
Statement II: The Joule-Thomson coefficient (1) for an ideal gas is zero

Statement I: The Joule-Thomson coefficient (1) is defined as p,p =

In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement IT are incorrect

3. Statement I is correct but Statement I is incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634026557. 1
68634026558. 2
68634026559. 3
68634026560. 4

Question Number : 40 Question Id : 6863406713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬂ%aﬁﬁiﬂmm%
DU L. SE-UTHE U (1) BT = | & &0 F a1 oo sar 2 |

\&T ),

B 11: ot 1re 719 & fony S[a-UTH Tuies (u,p) QA Gl 6
IqYad Pl o 31eich 4, i fGU T fddeul I 4 Jad SUga SR & 99 SIulU

1. BT IR BT S TET &

-2

HYT 1 AR BYT I SHI Tad &
. FHYT ] Tl 8. A BT 11 TTad ©
4. YT 17T0Td &, TiihT U 11 Tel o

L]

Options :

68634026557. 1
68634026558. 2
68634026559. 3
68634026560. 4

Question Number : 41 Question Id : 6863406714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason E.

Asgsertion A: The number of degrees of freedom at the triple point of water is zero.

Reason R: The phase rule applicable to non reacting system is [F= 2-x +N]
In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 1s NOT the correct explanation of A

3. A s true but B is false

4. A is false but R is true

Options :

68634026561. 1
68634026562. 2
68634026563. 3
68634026564. 4



Question Number : 41 Question Id : 6863406714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3l 2 [T T &, U SMUHUT (Assertion A) P U U (ARG & Al GERI 3HD BRI (Reason R)dh T
i}

HfUFHYT A: 70 F B 65 R W01 31 Sl (degree of freedom) BT T LA & |

PR R: 3R RIE o7 (19 Rufdea ) o U ar g arer wawyl Hgg g

[F=2-n+N]

Sudead YA & Srdie 4, 1 fGu U ffedl & 3 9ad Iugad IR &1 90 DIU;
1. A R R GHI 98l § SR R. A D! gl TR &

A SRR S U § SRR A D WS RSN T §

3. ATg! g dfdA R Hel 98l ©

A AR TSI e AT R TS B

Options :

68634026561. 1
68634026562. 2
68634026563. 3
68634026564. 4

| §)

Question Number : 42 Question Id : 6863406715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. Volume is an extensive property
B. For a closed system. first law of thermodynamics is du=dQ~dW
C. Density is an intensive property

Choose the correct answer from the options given below:

1. B and C only

| ]

. B only
3. Aand C only

4. A, B and C only

Options :

68634026565. 1
68634026566. 2
68634026567. 3
68634026568. 4



Question Number : 42 Question Id : 6863406715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. 3TGdT U HETHD 01§
B. U% Ygt oF (1% [G%eH), HHAGD &1 Yol [FU9 8 du=dQ-dW
C. UTcd U AT Waa 0T 2
i< faU U [ghedi & 9§ T IR &1 99 HIfU ;
1. HadB AR C
. ®dd B
3. PadA AR C

4. FATA. B AR C

| B

Options :

68634026565. 1
68634026566. 2
68634026567. 3
68634026568. 4

Question Number : 43 Question Id : 6863406716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LIST 11
A [oeP=al=(B/DI[ 1. [Dubring rule
B |[Ta=KTg*c II. [Cox equation

—B -
C. |logP=A- T+C 1. [Vander waals equation|
v 1
Z — T T - o

D. b PTe IV, |Antoine equation

Choose the correct answer from the options given below:

1. A-I. B-II. C-IV, D-III
2. A1 B-II. C-III. D-IV
3. A-IL B-1, C-IV. D-III
4. A-IL, B-TV. C-III. D-I

Options :

68634026569. 1

68634026570. 2

68634026571. 3
68634026572. 4



Question Number : 43 Question Id : 6863406716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

gl 1 %1 gt 11 9 e sifog

1 Geill
A [logP=A[1-(B/T)|| 1 EEUICEs
B. [Ta=KTgtc 1L [@iaq gHa@
B

C. |[logP=4 D 111 [eETS? arcy GHIBI

v o

Z: S Rt 1] r - Ty
D. —— IV. [UeTe (HI=Tah) FH®]

fafaiad fdeedi O 9 981 3Tk &1 994 Sifo ;

1. A-I. B-II. C-IV, D-III

S

CA-L BAILL C-IIT, D-IV
3. AL B-1. C-TIV. D-I11
4. A-I1. B-IV. C-I11. D-1

Options :

68634026569. 1

68634026570. 2

68634026571. 3
68634026572 4

Question Number : 44 Question Id : 6863406717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Consider the following statement regarding natural rubber

A, Natural rubber is linear polymer of isoprene (2-methyl-1.3-butadiene)
B. Natural Rubber becomes soft at high temperature (>335k) and brittle at low temperature (<283k)
C. Vuleanisation is a process of heating a mixture of raw rubber with sulphur at a temperature between 373

kto415k
D. In the manufacturing of tyre, 5% of sulphur i1s used as a crosslinking agent.
Choose the correct answer from the options given below:
I.LALB&C
2A.B&D
3.A,.C&D
4 A.B.C&D

Options :



68634026573. 1
68634026574. 2
68634026575. 3
68634026576. 4

Question Number : 44 Question Id : 6863406717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el X89S & Had d Mafafad syl iR [dar S

A WIHTi 363 S (2-HI-1,3-G2TSISS M) B U @ Sgad (S8 YIieiR) &
B. W {d® 3@ I d99M (>335k)UR g SR 99 198 TR (<283k) W HIR &1 &1dl & |
C, GeP- PR AR TS & GoPe & Ty [T &1 373 k W 415 k TP & ATgHH O3 7TH $37 P
RIEZI I
D. TR & gt § wiafifd dode s ode & =0 8 50 Tom: &1 G o g |
i< A U fasedi # 9 9El STR & 994 S
1LA.B3RC
_A.B3RD
3.A.C3RD

4. A,B.C3RD

-2

Options :

68634026573. 1
68634026574. 2
68634026575. 3
68634026576. 4

Question Number : 45 Question Id : 6863406718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Elastomer [. Buna-s
Fibres II. Nylon.6.6

Thermoplastic polvmer| II1. [Polyvthene
Thermozetting polvmet| IV, [Bakelite

ofofw[=

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV

| )

ATV, B-IIL C-1I. D-I
3. A-III, B-11, C-1, D-IV
4. A-III, B-IV. C-I, D-11

Options :

68634026577. 1
68634026578. 2
68634026579. 3
68634026580. 4

Question Number : 45 Question Id : 6863406718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 gH 11 ¥ i Sl

E 1 e I
A HTEHL I [d-] (Buna-s)
B. [FEER II. FEaH 66

. ErEEs gifaae

& P e 1L [areftefT
D. UifeiR (719 e sgad) IV. [sdarse
frafeiRad faweal & 9 98l SR &1 98- i :

1. A-L. B-II. C-III, D-IV
2.A-IV. B-IL. C-11. D-1
3. AL B-IL C-1. D-IV
4. A-TIL B-IV. C-1. D-1T

Options :

68634026577. 1

68634026578. 2

68634026579. 3
68634026580. 4



Question Number : 46 Question Id : 6863406719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Novalac on heating with formaldehyde undergoes cross- linking to form an infusible solid mass
called "Bakelite"

Statement II: Bakelite is used to make electrical switches and handles of various intensils

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I is true but Statement IT is false

4. Statement I is false but Statement I is true
Options :
68634026581. 1
68634026582. 2

68634026583. 3
68634026584. 4

Question Number : 46 Question Id : 6863406719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G R URI P

TY I AP DI B SIS & WY TH He- U= 530 o1y fdifde (e dem) g1 Us griaHig
Eraftad) 89 fifs a1 & fo s e ed ¢

HUA II; dPh a5 BT IUA sdfdead a9 3R AfiE 5d41 & e 991 & ford fPar S g
e HYF & iTdi® o, A f4T T [deed| H 9 HeY 3ugad SR &1 997 SI;
1, PYT 1R TS S0 &

[ B

CPYTI R IS A B

YT 1 TA 8. AT BYT 1 T §

Lad

4. YT ITA B, Afe FYT I T ©

Options :
68634026581. 1
68634026582. 2



68634026583. 3
68634026584. 4

Question Number : 47 Question Id : 6863406720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The species which can be used as best initiator for the cationic polymerisation is
1. HNO;
2. LiAlH,
3, AlCL;

4. H,504

Options :

68634026585. 1
68634026586. 2
68634026587. 3
68634026588. 4

Question Number : 47 Question Id : 6863406720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YAl S5 IBRUI (Seld-e URiERIgHRH) & ol a8 3= 3RYS & &9 f5g wWieiis @1 39gi
RIS LGRS

1. HNO;,

LiAlIH,

[

Lad

LAICI
4. H,S04

Options :

68634026585. 1
68634026586. 2
68634026587. 3
68634026588. 4

Question Number : 48 Question Id : 6863406721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Poly Dispersity index (PDI) is defined as

e ]

M-

1. PDI=—=
W

2. PDI = "\-.{-‘-'-'
M,

1‘_’{

3. PDI=—X
n

M,

4. PDI = =2
M,

Options :

68634026589. 1
68634026590. 2
68634026591. 3
68634026592. 4

Question Number : 48 Question Id : 6863406721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEURATA Yai® (PDL. UiliswRic! Soa) &I FY & w0 § gy G S s -

M
1. PDI=—2x
i
M2
2. PDI ===
M,
3. PDI =22
M n

M,
4. PDf =%
A

Ay

Options :

68634026589. 1
68634026590. 2
68634026591. 3
68634026592. 4

Question Number : 49 Question Id : 6863406722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A polymer contains 10 molecules with molecular mass 10.000 and 10 molecules with molecular mass
1.00.000. Calculate number average molecular mass:

1. 5500

[ ]

. 50.00

. 50,000

Lad

4. 55.000

Options :

68634026593. 1
68634026594. 2
68634026595. 3
68634026596. 4

Question Number : 49 Question Id : 6863406722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qﬁi@l@ﬂfﬁmﬁmmﬁwa{qm 000 UTH 310] G0 & 31X 10 SU] 1.00.000 U1H 3] G009 & ¢ | SHD|
SIEd Y] eI &1 BT IR B -

1. 5500

[

. 50.00
3. 50.000
4. 55.000
Options :
68634026593. 1
68634026594. 2

68634026595. 3
68634026596. 4

Question Number : 50 Question Id : 6863406723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following is a natural polymer?

1. Polythene

| ]

. Nylon 6.6
3. Rubber

4, Buna-5

Options :



68634026597. 1
68634026598. 2
68634026599. 3
68634026600. 4

Question Number : 50 Question Id : 6863406723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i & @ oH 91 wiefde agas o
1. Oietd=
2. T 6.6

3.3d5

)

4. g-1 -5 (Buna-S)

Options :

68634026597. 1
68634026598. 2
68634026599. 3
68634026600. 4

Question Number : 51 Question Id : 6863406724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

A polymer 1s obtained by heating caprolactum with water at high temperature. That polymer is called:

1. Nylon 6.6

| ]

. Terylene

3. Teflon

e

. Nylon 6

Options :

68634026601. 1
68634026602. 2
68634026603. 3
68634026604. 4

Question Number : 51 Question Id : 6863406724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a% S5a9 (MR IS8 Fyiceed &1 o/ & 91 3= ardH U= 916 b UTed 67T Olfd 8. 98 Seardl -

1. AEAH 6.6
2. ehvee

3. eHAE
4. EAM 6

Options :

68634026601. 1
68634026602. 2
68634026603. 3
68634026604. 4

-

Question Number : 52 Question Id : 6863406725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Natural rubber is a linear polymer of 1soprene. Isoprene has the following chemical structure:

CH,
|
H,C-C-CH =CH,
|
CH,

[

CH,

- |
H,C=C-CH =CH,

| B

Cl

l
H,C-C—-CH=CH,

l

CH,

Lad

NH,
s |
H,C=C—-CH=CH,

Options :

68634026605. 1
68634026606. 2
68634026607. 3
68634026608. 4



Question Number : 52 Question Id : 6863406725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP IS ST &1 8 sgas (@R TftnR) 81 AEaH &1 Ieate = Fefafaa g

H
=
]
|
~
|
~
an
Il
~
o
(]

CH,

- |
H,C = C-CH = CH,

[ ]

it

[

3 HyC-C-CH =CH,
|
CH,

NH,
4. |
H,C =C~CH =CH,

Options :

68634026605. 1
686340266006. 2
68634026607. 3
68634026608. 4

Question Number : 53 Question Id : 6863406726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The increasing order of head loss caused by the following flow measuring devices is:

A Orifice meter
B. Venturi meter
C. Flow Nozzle

Choose the correct answer from the options given below:

1.ABC

| S

.B.A,C
3.C.A.B
4.C.B.A

Options :

68634026609. 1
68634026610. 2
68634026611. 3
68634026612. 4

Question Number : 53 Question Id : 6863406726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[afafed warg aru= gidadl g1 61+ arel =Y g1 (88 diE) PIdgdI hH © -
A, JRIEY Oiee
B. g3t diex
C. il e
A [au T fasedl | U 9l IR &1 904 S ;

1.A.B,.C

2.B,A,C
3.C.A.B
4 C.B.A

Options :

68634026609. 1
68634026610. 2
68634026611. 3
68634026612. 4

Question Number : 54 Question Id : 6863406727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Sewage sludge | I |Pseudoplastic
B. |Rubber latex 1. [Dilatent
C. Quicksand [I1. [Newtonian
D. [Water IV |Bingham plastic|

Choose the correct answer from the options given below:
1. A-I. B-1I. C-III. D-IV
2. A-IV. B-L, C-II. D-III
3. A-IV. B-II. C-1. D-ITI
4. A-IV, B-II, C-III. D-I

Options :

68634026613. 1
68634026614. 2
68634026615. 3
68634026616. 4

Question Number : 54 Question Id : 6863406727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 gE= 11 ¥ fiar Sifs

Tl I T I
. [Hids 1 (dligdHd 3| 1 [gEidicd
Fag e 11 [S12cle= ([98pR)
5 ¥ @ is) 1L [{ge
B IV. [fg=H Wi

Fefaiad fawegl § O 9gl IR &1 994 Sifo -

1. A-I. B-1I. C-III. D-IV

CIECIE

2. A-IV. B-I. C-I1. D-III
3. A-IV. B-II., C-1, D-III
4. A-IV. B-11. C-III, D-I

Options :

68634026613. 1
68634026614. 2
68634026615. 3
68634026616. 4



Question Number : 55 Question Id : 6863406728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Asgsertion A: A throttling process does not change the temperature of ideal gases.

Reason R: Bernoulli equation applies to a non-viscous fluid. which does not exchange shaft work with the
surroundings.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true but R 18 NOT the correct explanation of A

3. A s true but B is false

4. A is false but B is true

Options :

68634026617. 1
68634026618. 2
68634026619. 3
68634026620. 4

Question Number : 55 Question Id : 6863406728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2l 2 (U T §. U & NP YA (A) SIR g3 Bl BRI (R) BT 5 |

YT A: FURI W (1T W) Smest T & araAE @ gRkafad Tel e gl
BRI R; TAIT GHIBRON ] 61 (A1 (00 d) a0 TR AL -6] 611 5. o1 URaS 9§ Y9 &1 &1
faf e =8 dar g

SRl HY o 3felD 7, 193U T g edi & 4 Tad Suged IR &1 90 SIS
1. AR R A TSI § 3R R A DI TSl TR §

2. ASRREH TGI8 AR R AT Hol ARAT 61 §
3. ATE SR Rl T B
LATEI TR S AGIR TR B

Options :

68634026617. 1
68634026618. 2
68634026619. 3



68634026620. 4

Question Number : 56 Question Id : 6863406729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A f — K( 1 — ! W I [Kick's Law
] Dsh Dsa |
P Dsa ]
B |—-=Kln II. [Bond Crushing Law
m Dish
P K -
Cl—=—7== III. [Rattingers Law
m ~DP
4V, o ) . )
D. |Ina =—=— IV, [Kelvin equation
vRTL

Choose the correct answer from the options given below:

1. A-III. B-1. C-IL. D-IV

[

. A-L B-III, C-IV, D-II
3. A-IL B-I11, C-I, D-IV
4. A-IV. B-I1, C-TII. D-1

Options :

68634026621. 1
68634026622. 2
68634026623. 3
68634026624. 4

Question Number : 56 Question Id : 6863406729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=i 1 1 gE 11 ¥ fiar S

T = I
P [ 1 | ﬁ ﬁ
. m K' Dst Dsa) L
P { Dsa’ ; : ;
B.|-=km| | | 1L fofree oo (@S wikm P
c == —.-5—-- 11 [Rfe=az 1w
m A DP
D. [lna =22 1V, ofeaT geffaeor
vRTL
FFafefad faeedi § O 9et 3Tk &1 994 DIt ;

1. A-III. B-1, C-IL. D-IV

[ )

CA-L B-IILL C-IV. D-II

[ ¥%]

CA-IL B-IIL C-1 D-IV
4. A-IV. B-II. C-III. D-I

Options :

68634026621. 1
68634026622. 2
68634026623. 3
68634026624. 4

Question Number : 57 Question Id : 6863406730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fibrous material can be broken by

1. Crushing rolls

b2

. Squirrel-cage disintegrator
3. Tube mill

4. Ball mill

Options :

68634026625. 1
68634026626. 2
68634026627. 3
68634026628. 4

Question Number : 57 Question Id : 6863406730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HEsd (WNER) Ui @i @fsd fbar s aaar g -

. ShIRFT A (Gl o)

2. epaa &l (fUoR) faue
3. &6 i

4. §1a i

Options :

68634026625. 1
68634026626. 2
68634026627. 3
68634026628. 4

ik

-

Question Number : 58 Question Id : 6863406731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A fluid energy mill used for

1. Cutting

2

. Grinding
3. Ultragrinding
4. Crushing
Options :
68634026629. 1
68634026630. 2

68634026631. 3
68634026632. 4

Question Number : 58 Question Id : 6863406731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UISS ool (d ((Rd Hol B d139an e fearsms
1. e (P
fowrg @nsfem)
3. TRTAOT (AT AS(ST)
4, ST (B

Options :

[ ]



68634026629. 1
68634026630. 2
68634026631. 3
68634026632. 4

Question Number : 59 Question Id : 6863406732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sphericity for a cylindrical particle whose length equals the diameter 1s

1.1

| §)
M
£
[y

Options :

68634026633. 1
68634026634. 2
68634026635. 3
68634026636. 4

Question Number : 59 Question Id : 6863406732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS SOAIGR S oS! by 39D oI & §1aR ¢ $I idid (TR gidar e:
143

2.<1

o,

Options :

68634026633. 1
68634026634. 2
68634026635. 3
68634026636. 4

Question Number : 60 Question Id : 6863406733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the radiug of ball mill is R and radius of ball 1s r. then critical speed of the mill is:

1.l | £
2\ (R-r)

P
2N(R-r)

3 1| 8
ﬁ‘ulf(R r)

o

4
gN(R-r)

Options :

68634026637. 1
68634026638. 2
68634026639. 3
68634026640. 4

Question Number : 60 Question Id : 6863406733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T wifor i ool e o @1 B r § AR Sa @1 e . O 9 @1 wifds 9 (hlcwa wis) gt

1 | &
2r\(R-r)

12

Lad

Options :

68634026637. 1
68634026638. 2
68634026639. 3
68634026640. 4

Question Number : 61 Question Id : 6863406734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a plate and frame filter press. which of the following is valid for tlow of filterate through cake
1. Hagen- Poiseuille equation

2. Nikuradse equation

3. Kozeny -Carman Eq"
4. Kremser equation

Options :

68634026641. 1
68634026642. 2
68634026643. 3
68634026644. 4

Question Number : 61 Question Id : 6863406734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fordt wie freex U9 & &9 ¥ 8o e (freco) S o & i Mo 9 sm arogt /Sy &
BT TGS, FHieRu
» Pigred wsflau
3. PIoil BT FHiER0l
4. HHHR FHIBI
Options :
Sacozsesz 2

68634026643. 3
68634026644. 4

—

o

Question Number : 62 Question Id : 6863406735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If two pipes have same nominal size then they have

1. Same inside diameter

{S]

. Same outside diameter
3. Same inside & outside diameter

4. Same thickness

Options :
68634026645. 1



68634026646. 2
68634026647. 3
68634026648. 4

Question Number : 62 Question Id : 6863406735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe 31 gl @1 S SR HHT @A 9Ee) § 9 ST -

1. ¥ &1 <019 9IEH 8

2. dlgd ol =g HMHE éIJH
3. 37X 3R S8 BT SO JEE s
4. OieTs IraE Bt

Options :

68634026645. 1
68634026646. 2
68634026647. 3
68634026648. 4

Question Number : 63 Question Id : 6863406736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
In orifice meter with the increase of the ratio of orifice diameter to pipe diameter (f). the overall pressure loss

1. Increases

2. Decreases

3. Remain constant
4. First decreases, then increases

Options :

68634026649. 1
68634026650. 2
68634026651. 3
68634026652. 4

Question Number : 63 Question Id : 6863406736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HNIETEY Hier ¥ NIPIEY & oy iR U150 o0 () & Aurd 8 gi< & 91y 993 &0d 81 -
1. 9g ol &
2. B IOl §
3. fRREd e
4. U A B § SR R ggal ©

Options :

68634026649. 1
68634026650. 2
68634026651. 3
68634026652. 4

Question Number : 64 Question Id : 6863406737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The value of fanning friction factor for smooth pipes for Ng_. = 109 is approximately:

1.0.1

| S

. 0.003
3.0.01

4. 0.0001

Options :

68634026653. 1
68634026654. 2
68634026655. 3
68634026656. 4

Question Number : 64 Question Id : 6863406737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
N, = 100 % @ ol & fore i D= Saex (T SRe) 1 71 TTH EGIGE

1.0.1

[ )

. 0.003

L]

. 0.01

4. 0.0001

Options :
68634026653. 1



68634026654. 2
68634026655. 3
68634026656. 4

Question Number : 65 Question Id : 6863406738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Viscosity has the dimensions

.Y 1 S e

i

2

.MLIT!

MLT

[F¥]

4. MLT™

Options :

68634026657. 1
68634026658. 2
68634026659. 3
68634026660. 4

Question Number : 65 Question Id : 6863406738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT B f9H1Y (STEH=9) § -
WY | e
2. ML-IT]
3.MILT
4. MLT"
Options :
68634026657. 1
68634026658. 2

68634026659. 3
68634026660. 4

Question Number : 66 Question Id : 6863406739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The simple pitot-tube measures

1. The density

| S]

. The static pressure
3. The dynamic pressure
4. The total pressure

Options :

68634026661. 1
68634026662. 2
68634026663. 3
68634026664. 4

Question Number : 66 Question Id : 6863406739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rroadicleegg~ ®iHMmbdlG
1. 99
2. B g1
3. T g

4. PATE

Options :

68634026661. 1
68634026662. 2
68634026663. 3
68634026664. 4

)

Question Number : 67 Question Id : 6863406740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. Unit of heat transfer coefficient is W/(m*.k)
B. Prandtl number is defined as Cpu/k

C. Prandt]l number for liquid metals is of the order of 10°
Choose the correct answer from the options given below:

1. Aand C only

| ]

. C only
3. Aand B only
4. B and C only

Options :

68634026665. 1
68634026666. 2
68634026667 3
68634026668. 4

Question Number : 67 Question Id : 6863406740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, SN RIHIA0 I Bl 5hTg W/im k) ©
B. Uis@ Tl &1 Cpuw/k & =4 H uRuifia fbar srar g
C. PORT YTg3T & ey wisa e 10° S »H A eI &

= fau U fdoedi § 9 el 3O &1 99 Hifou .

1. Pad A IR C
2. Had C
3. Hadd A ARB
4. PIIAB IR C

Options :

68634026665. 1

68634026666. 2

68634026667. 3
68634026668. 4

Question Number : 68 Question Id : 6863406741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When heat (in the form of radiation) from sun falls on the steel container (filled with water). water of whole
container become hot. Conduction. convection and radiation are involved

A. Heat from outer surface to mner surface of steel container reaches through conduction.
B. Heat transfer through convection also plays an important role
C. Energy from sun to surface of steel container reaches in the form of Radiation

Choose the correct answer from the options given below:

1.C.B.A
2.CA.B
3.A.B.C
4.B.A.C

Options :

68634026669. 1

68634026670. 2

68634026671. 3
68634026672. 4

Question Number : 68 Question Id : 6863406741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofe 3 (fafehur =9 o) 9 ¥ Us e & U (S7d 4 WR) TR USdl 6. d 43 UH &1 &d 7 5l &Ial g |
SqH TagH. grer 3R fafdeor afifed g1

A TI9 & UE D] 9163 9a8 3 U] 998 0% S 910 (S o8 BRI U ddl &
B. TaGT & GRT &A1 BT WHIaR0 1 Agaqu yfiys v
C. 90 9 ¥ & U & 9ag d 3ol [d19R0] & ¥4 H UgHdl o

At fau 7Y fawent # 9 el ST &1 997 S -

1.C.B.A

[ ]

EAB
3ABC
4. B.A.C

Options :

68634026669. 1
68634026670. 2
68634026671. 3
68634026672. 4

Question Number : 69 Question Id : 6863406742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A. The slope of the stripping operating line is always less than one.
B. At the azeotrope . liquid composition equals the vapor composition
C. Adsorption 15 an endothermic process

Choose the correct answer from the options given below:
1. A only
2. B only
3. C only

4. Aand B only

Options :

68634026673. 1
68634026674. 2
68634026675. 3
68634026676. 4

Question Number : 69 Question Id : 6863406742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. fe&ft sRfET A F1ed 9o Ud Y FH el ©
B. Tfoaieg (RR&1h TR 56 &1 Yoo a9 & Yaio & SRIeL gia1 o
C. RIS Ue w1 Tl ufa g

=< fau U [9@edi 5 I 9ol 303 & 994 Bl ;
1. Pdd A

.Pdd B

. Had C

4.%aq A 3R B

Options :

68634026673. 1
68634026674. 2
68634026675. 3
68634026676. 4

|

L]

Question Number : 70 Question Id : 6863406743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Fourter's law in heat transfer operation is used for conduction.
Reason R: Newton's law of cooling in heat transfer operation is used for Radiation.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. A s true but R is false

4. A is false but R is true

Options :

68634026677. 1
68634026678. 2
68634026679. 3
68634026680. 4

Question Number : 70 Question Id : 6863406743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 F2F AU U B, U MU UT (Assertion A) & ¥ H [RIRAT & A1 GERI 6P BRI (Reason R)T T
H

SHYHYT A: T RHICRU =T (I SIAWR SH19LRH) 5 BIRGR 98 &1 9aiT 9ra & fog fhar
TG

DR R: T RIFTIRO YR (81 SRHR HITREE) § e & id- &1 a9 o1 3uan e & fad

ERIRCIRIN]
Sudad dYH & irdie 5, A fQu U fasedl & 3 9ad 39 SR &l 90 i

1. AR R A TSI € AR R AP Tel R 2

2. A SRR HI TS € 3R R, A P UE Ore 7T @
3. ATE e Afs R el AT
4 ATSI TSI S PR TSI

Options :

68634026677. 1
68634026678. 2
68634026679. 3
68634026680. 4



Question Number : 71 Question Id : 6863406744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I LISTII
A I. [Reflux ratio
x(1=x)
B LD II. |g
.FJF[ i )’F‘l
C. H, —H, ML [k-value
D p*ix IV |Belative volatiliny

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV

2. ATV, B-II1. C-1I. D-I

3. A-IV. B-1. C-I1. D-III

4. A-IV. B-II. C-1. D-III

Options :

68634026681. 1
68634026682. 2
68634026683. 3
68634026684. 4

Question Number : 71 Question Id : 6863406744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=l 11 4l 11 9 [0aH S

T T I
PRI — ¥
A % I [ugare (o) U
B. LD T g
Hy - Hp
S V- L Y- HI
D p*x 1V [Wryes areoRiicl
fFrafafad faeedl & 9 981 ST &1 98- P

1. A-L, B-II. C-III, D-IV

2. A-IV. B-III, C-II. D-I

3. A-IV, B-I, C-II. D-III

4. A-IV. B-11. C-1. D-III

Options :

68634026681. 1
68634026682. 2
68634026683. 3
68634026684. 4

Question Number : 72 Question Id : 6863406745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Steam Nozzle I Mach Number
Compressible flow] II. [Biot Number
Surface tension 111 [Super saturation|
Hear conduction | IV, [Webes Number

ofofw[=

Choose the correct answer from the options given below:

1. A-I. B-IV. C-II, D-III

| )

. A-II. B-1. C-IV. D-III
3. A1 B-L, C-IV, D-II

4. A-IL. B-II1, C-1. D-IV



Options :

68634026685. 1
68634026686. 2
68634026687. 3
68634026688. 4

Question Number : 72 Question Id : 6863406745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 gl 11 9 e Sifn
gl 1 A1

aTs] Ae 1. [ArE g
Ute-1g wHE| 11 [§re 5=
¥ 91 1L |3fd ¥qd
S A | 1V [des g

fgfaiad fdeedl & 9 Tel STk &1 994 Sifoiy :

1. A-I. B-IV. C-II. D-III

ofo]w[»

| B

. A-TL B-1. C-IV, D-III
3. A-IIL. B-1. C-IV, D-II
4. A-IL, B-1II. C-I, D-IV

Options :

68634026685. 1
68634026686. 2
68634026687. 3
68634026688. 4

Question Number : 73 Question Id : 6863406746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is usually not used as the heat exchange fluid in a flat plate solar collector?

1. Air
2. Water
3. Fuel o1l
4. Ethylene glycol and water

Options :

68634026689. 1

68634026690. 2

68634026691. 3
68634026692. 4



Question Number : 73 Question Id : 6863406746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Wﬁﬁmwmm i @ie HieR doiged § &1 fafiag ava wu o =81 foar oran
1.d1g
2. Td
3.2y dd
4. URIeiH g ®Td 3R o

Options :

68634026689. 1
68634026690. 2
68634026691. 3
68634026692. 4

Question Number : 74 Question Id : 6863406747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The heat flux in the free convection regime of pool boiling varies as the
1. AT?
AT
3. AT?

4, AT

Options :

68634026693. 1
68634026694. 2
68634026695. 3
68634026696. 4

Question Number : 74 Question Id : 6863406747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qd §1fe (G Su) & gad Hag &4 H HHIHarg gic wiad Ugh & SFTER yladl gl & -

1. AT
2ATYE
3. AT?
4y AT

Options :

68634026693. 1

68634026694. 2

68634026695. 3
68634026696. 4

Question Number : 75 Question Id : 6863406748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The unit of heat transfer coefficient 1s

1. W/imk)
2. Wim2 k)
3. J(m k)
4. Ji{m.k)

Options :

68634026697. 1
68634026698. 2
68634026699. 3
68634026700. 4

Question Number : 75 Question Id : 6863406748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&N RIHIERUI Ul B 515 6 :
1. W/(m-k)
2. Wim?-k)
3. J(m* k)
4. T(m-k)

Options :



68634026697. 1
68634026698. 2
68634026699. 3
68634026700. 4

Question Number : 76 Question Id : 6863406749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In film type condensation over a vertical tube s local heat transter coefficient is

—

. Inversely proportional to local film thickness

J

. Directly proportional to local film thickness

LN}

. Equal to local film thickness
4. Independent of local film thickness

Options :

68634026701. 1
68634026702. 2
68634026703. 3
68634026704. 4

Question Number : 76 Question Id : 6863406749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

U% &4 AlaH] (alcdhd Sd) U 5o (el YR & 9994 H R &S] R0 0 §idT 6 -
1. R ftoe 1 Hierg & SgehaTurdl

2. T ey Bt Oiers & 419 sruifae

3, W e S AleE & a3ay

4. T fihed 3l Al § W@ad / Heay

)

Options :

68634026701. 1
68634026702. 2
68634026703. 3
68634026704. 4

Question Number : 77 Question Id : 6863406750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Species A 1s diffusing at steady state from surface of a sphere (radius =lem) into a stagnant fluid. If the
diffusive flux at a distance r=3 cm from the center of the sphere is 27 mol/em?s. the diffusive flux (in

' 7 . .
mol/cm~s) at a distance r=9 cm 1s

1.1

| )
Ru]

4. 27

Options :

68634026705. 1
68634026706. 2
68634026707. 3
68634026708. 4

Question Number : 77 Question Id : 6863406750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ieiter A U 7019 (A9 =1em) ®1 Tde I wrf 39 (XS ©We) U U 3 aid (i) U GaRka g @
%I ﬁﬁﬁ%aﬁ@ r=3cm ﬁﬁﬂ?m Hdlg f%Lﬂzqu@I'ﬁ Uidgd) 27 mol/cm~s %’.?ﬁ%ﬁrﬂg cm U<
wm(molfcmzsﬁ)m:

1.1

12
O

4. 27

Options :

68634026705. 1
68634026706. 2
68634026707. 3
68634026708. 4

Question Number : 78 Question Id : 6863406751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



At total reflux. the capacity of a distillation column is

1. Zero

-2

. Maximum

3. Minimum

o

. Optimum

Options :

68634026709. 1
68634026710. 2
68634026711. 3
68634026712. 4

Question Number : 78 Question Id : 6863406751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qUl UYATE (Cled JTaa) UR SIHa Piad ol &Hal gl o -

4. gFaH

Options :

68634026709. 1
68634026710. 2
68634026711. 3
68634026712. 4

Question Number : 79 Question Id : 6863406752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The flooding velocity in a plate columm. operating at 1 atm pressure 13 3m/s. If the column is operated at 2 atim
pressure, under otherwise identical conditions, the flooding velocity will be

1J

b | o | ,
Slbo R

Options :

68634026713.
68634026714.
68634026715.
68634026716.

AW N —

Question Number : 79 Question Id : 6863406752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 THSHY S1d U YA PR 38 W & BIad & Slad 91 (TS daiibeh 3m/s 31 ald Siad &l
2 FRHST aTd TR gy gHH wifagl # wferd fovar S g, df S o1 g1

& Sl

| S

[

Lad

i | b 2|

Options :

68634026713. 1
68634026714. 2
68634026715. 3
68634026716. 4

Question Number : 80 Question Id : 6863406753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



The slope of operating line in the rectifying section of a distillation column 1s wnity if the reflux ratio 1s

1.0

| ]

4. Rmi.u

Options :

68634026717. 1
68634026718. 2
68634026719. 3
68634026720. 4

Question Number : 80 Question Id : 6863406753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G DIAH & DI/ TR YT H SO g (e 36T &1 87e Ud gidl 2. ufe ]
HAIAE :

1: 0

-
=

Options :

68634026717. 1
68634026718. 2
68634026719. 3
68634026720. 4

Question Number : 81 Question Id : 6863406754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: An acidic solution hag a pH value less than 7.

Statement II: The functioning of radiation pyrometer is based on the stefan-Boltzmann law.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement IT are false

3. Statement I is true but Statement II 1s false

4. Statement I is false but Statement I is tiue

Options :

68634026721. 1
68634026722. 2
68634026723. 3
68634026724. 4

Question Number : 81 Question Id : 6863406754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= gl ey fliu e §:
HYA L U Y faeaa- @1 pH AF 7 S FA ST &
FYA I1: ST UEIIHIER B ST T hA-glecad HaH IR {TURa g
SWe HYA & Hrelie O, i 4 70 [deed] § 4 Had 3ugad 9ok &1 944 SIluU;
1. PSR IS 9 3

2. BYTI R a3 HTT &
3. PUT IO e, AfT ey I A ©

4. YT 3T ®. AP dUT I TA &

Options :

68634026721. 1
68634026722. 2
68634026723. 3
68634026724. 4

Question Number : 82 Question Id : 6863406755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R,

Assertion A: If the transfer function of the two non- interacting first order systems connected in series are
G(8) and G,(S) , the overall function is G4(S) , G5(8)

Reason R: When damping coefficient become zero, the system is called undamped.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R 1s NOT the correct explanation of A

3. A is true but B is false

4. A is false but R is true

Options :

68634026725. 1
68634026726. 2
68634026727. 3
68634026728. 4

Question Number : 82 Question Id : 6863406755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 B2 AU U §, TS S U (Assertion A) & U H [1RGd © 1 GERI 36 BRI (Reason R)T T
I

DY A: fe g AR H OS = foparg i (11 grefac ) UuH oH o el yunierl o siidike
e G(S) SR G4(S) ©. Ol §HT HARD B G4(S) . G(S) Bl g

BRI R: Od SgHE Ul Y4 8l Oldl 6. dlibeed satidd seardl gl
SUed HYF & MTai® o, A 4 T [deed] # ¥ §eY SUgad 3R &1 994 SIg;

1.ASIRREHA T8I & SRR A Uol ARAT &

2. A SRR &I U8l g SiRR. AP Jol ARAT 61 &
3. ATEI e Al TR el TR ©
4 ATEITEI AR TE ©

Options :

68634026725. 1
68634026726. 2
68634026727. 3
68634026728. 4



Question Number : 83 Question Id : 6863406756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Tachometer 1s used to measure
1. Velocity
2. Pressure
3. Speed

4. Composition

Options :

68634026729. 1
68634026730. 2
68634026731. 3
68634026732. 4

Question Number : 83 Question Id : 6863406756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I BT IUUN @ A & o [T e e
1,97

2. qld

3.9
4. T

Options :

68634026729. 1
68634026730. 2
68634026731. 3
68634026732. 4

Question Number : 84 Question Id : 6863406757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following manometer liquid has maximum capillary rise relative to merecury?

1. Water

| ]

 Mercwry
3. Carbon tetrachloride

4. Ethyl alcohol

Options :

68634026733. 1
68634026734. 2
68634026735. 3
68634026736. 4

Question Number : 84 Question Id : 6863406757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeied 7 9 g HH1wiex 5 1 UR & |Idal SiisHaH SR S Bl 82

1. olcl

o

2. U]

3. TE CCl TARGS

. Ud Ue TRl

Options :

68634026733. 1
68634026734. 2
68634026735. 3
68634026736. 4

fea

Question Number : 85 Question Id : 6863406758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The Bourden tube of a vapor pressure thermometer is a
1. Primary element
2. Secondary element
3. Manipulating element

4. Functioning element

Options :
68634026737. 1



68634026738. 2
68634026739. 3
68634026740. 4

Question Number : 85 Question Id : 6863406758 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aryg g1 (AR URR) YO ST REI FA T ©
1. Wyl sfayd (uferde)
feclie siaga (glase)
. TRUR ${qga (FHIgafeT uferde)
4, Tepareite aragy (ufedo)

[ ]

Lad

Options :

68634026737. 1
68634026738. 2
68634026739. 3
68634026740. 4

Question Number : 86 Question Id : 6863406759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The phase lag of a second order system 18 always

1.£180°

5
i v
o
-
o

4. 135°

Options :

68634026741. 1
68634026742. 2
68634026743. 3
68634026744. 4

Question Number : 86 Question Id : 6863406759 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fdiae mu ol / Afbs 3ifex Rited o} wiown 9ydqr (s @) Jad HRIGE

3.45°

4. 135°

Options :

68634026741. 1
68634026742. 2
68634026743. 3
68634026744. 4

Question Number : 87 Question Id : 6863406760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Phase angle (@) of the sinusoidal response of a first order system is given by:

—

B=tan(wr)

| B

@ =tan"! (~wr)

[¥%]

@ =tan"! (wr)
4. 0=8in! (-wr)

Options :

68634026745. 1
68634026746. 2
68634026747. 3
68634026748. 4

Question Number : 87 Question Id : 6863406760 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gwwﬁwﬁ‘r-ﬂa—éaﬁﬁﬁmﬁ@mﬁu fhaT & AU UG ®I0 () BT gRI fegn wira

—

L@ =tan (wr)

[ R

.0 =tan"! (~wr)

.0 = tan’! (wr)

L]

e

.0 =Sin"! (-wr)

Options :

68634026745. 1
68634026746. 2
68634026747. 3
68634026748. 4

Question Number : 88 Question Id : 6863406761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Dynamic error for a ramp input (At) in a critically damped second order instrument is

1. At
2. 2At
3. 3At
4. 4A¢t

Options :

68634026749.

68634026750.

68634026751.
68634026752.

AW N~

Question Number : 88 Question Id : 6863406761 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS Sifas &9 ¥ sarfed fgdiae ife 93 3 W 57e Ay & fau 1ios 3 crafis TRy ed e

1. At

| B

. ZAt
3. 3At
4. 4At

Options :



68634026749. 1
68634026750. 2
68634026751. 3
68634026752. 4

Question Number : 89 Question Id : 6863406762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Overdamping in a process control system

1.Is too bad

J

. Is acceptable
3. Is highly desirable
4. Decrease dynamic error

Options :

68634026753. 1
68634026754. 2
68634026755. 3
68634026756. 4

Question Number : 89 Question Id : 6863406762 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
US WY Sl [een (whd Haau da) O siaws i/ sifdsiaria
LEgA g
2. Wied g
3. AR diB- g §
1. TR TR B HE R A

Options :

68634026753. 1
68634026754. 2
68634026755.3
68634026756. 4

Question Number : 90 Question Id : 6863406763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



At a corner frequency, the phase angle for the sinusoidal response of a first order system 18

1.-90°

2

. -45°

.0°

[F¥]

4.-60°

Options :

68634026757. 1
68634026758. 2
68634026759. 3
68634026760. 4

Question Number : 90 Question Id : 6863406763 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fawsaep SiTqitl/ IR Wibdl U, UUH ol WUITell / B ST e o1 sa1awia sifoar & fau uraed

BB © :

1.-90°

| B

. =45°

.0°

Lad

4. -60°

Options :

68634026757. 1
68634026758. 2
68634026759. 3
68634026760. 4

Question Number : 91 Question Id : 6863406764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Alcohol content in freshly prepared natural and fortified wine may be respectively around

A T7-15%

B. 14-30 %
C. 30-40 %
D. 40-50%
E. 50-60%

Choose the correct answer from the options given below:
1. Aand C only
2.B and D only
3. Aand B only
4. C and D only

Options :

68634026761. 1
68634026762. 2
68634026763. 3
68634026764. 4

Question Number : 91 Question Id : 6863406764 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qToll I T lde SR Uadiied (BIEIhes) Tgd & Yo old &1 AT a9 e

7- 15%

14-30 %
. 30-40 %
40-50%
. 50-60%

i1 fau T fomedl § § 98! OTR &1 904 BIWT :
1. ®ad AR C
2. Pad B ARD
3.%ad AR B
4.%d% C IR D

Options :

68634026761. 1
68634026762. 2
68634026763. 3
68634026764. 4

Mo 0w R



Question Number : 92 Question Id : 6863406765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Current Viability I |Pnme cost
B. [Current Asset I1. |Acid test
C. |Direct material and labour] I11. |Account receivablg
D. [Liqudity IV |Bank overdraft

Choose the correct answer from the options given below:

1. A-I. B-III. C-II. D-IV

2. A-IV. B-III. C-1. D-11

AL B-11L, C-IV. D-1

[F¥]

4. A-II. B-1. C-IV, D-IIT

Options :

68634026765. 1
68634026766. 2
68634026767. 3
68634026768. 4

Question Number : 92 Question Id : 6863406765 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=i 1 1 gE 11 ¥ faar Sifs

g1 Tt 10
A g9 SaeEar @i g el 1 [gEar
B. [gdaH WuR 11 |3f%T gdiay
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D. [aeaar V. [ Haearee
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1. A-IL. B-IIL. C-IV. D-I

| ]

CA-L B-ILL C-IL D-IV

CA-L B-IIL C-IIL D-IV

L]

4. AL B-IV. C-I1. D-I

Options :

68634026765. 1
68634026766. 2
68634026767. 3
68634026768. 4

Question Number : 93 Question Id : 6863406766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II
Aniline from benzene [ Nitration
| Acetonitrile from propvlene| I |Oxaidation
Benzoic acid from toluene |11 PAmmoxidation
Styrene from ethylbenzene | IV [Dehydrogenation

ofofw[

Choose the correct answer from the options given below:

1. A-II. B-III. C-IV. D-I

2. A-L. B-IIL. C-I1, D-IV

CA-L B-1IIL C-1I1, D-IV

[F¥]

4. A-IIT. B-IV. C-II. D-1

Options :

68634026769. 1
68634026770. 2
68634026771. 3
68634026772 4

Question Number : 93 Question Id : 6863406766 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=il 11 4l 11 9 [ iy
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Gl § U 1 [sdiex
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1. A-IL. B-III. C-IV. D-I

ofo]w[s

| ]

CA-L BAILL C-II D-IV

CA-L B-ILL C-IILL D-IV

[F¥]

4. AL B-IV. C-I1. D-I

Options :

68634026769. 1
68634026770. 2
68634026771. 3
68634026772. 4

Question Number : 94 Question Id : 6863406767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A manufacturer produced 15000 consumer product which are sold at Rs 300/ each. At this volume. fixed costs
were Rs. 15.2 lakhs and variable costs were Rs. 21 lakhs. What 1s the break even quantity ?

1. 4000

[ ]

. 7800

. 8400

Lad

4.9500

Options :

68634026773. 1
68634026774. 2
68634026775.3
68634026776. 4

Question Number : 94 Question Id : 6863406767 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

U FHTaT A 15000 SUHTET SHIG, S 300 %, Ul 777 @1 &3 & &< 7101 58 A1 3, Wl @i 15.2 arg
$94 3R gRadf anra 21 arg Ot SHe! ary-3rey OE g

1. 4000

[

. 7800
3. 8400
4. 9500
Options :
68634026773. 1
68634026774. 2

68634026775. 3
68634026776. 4

Question Number : 95 Question Id : 6863406768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Manufacturing cost in a chemical company does not include

1. Administrative cost

b2

. Plant overheads

LFN]

. Fixed charges
4. Direct production cost

Options :

68634026777. 1
68634026778. 2
68634026779. 3
68634026780. 4

Question Number : 95 Question Id : 6863406768 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634026777. 1
68634026778. 2
68634026779. 3
68634026780. 4

Question Number : 96 Question Id : 6863406769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most flexible criteria for analysing an economic investment i3

1. Present value method

{S]

. Future value method
3. Salvage value
4. Rate of return criteria
Options :
68634026781. 1
68634026782. 2

68634026783. 3
68634026784. 4

Question Number : 96 Question Id : 6863406769 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fdt anfife fAow & fozdiwur & o Yeg T & & -
g9 9wy fafy
. Yrdt ey fafg

3. ddld HIH

iy

| ]

4. ATH Dl X HFF

Options :

68634026781. 1
68634026782. 2
68634026783. 3
68634026784. 4

Question Number : 97 Question Id : 6863406770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Diameter of the distillation column is set by

1. Number of theoretical plates

-2

. Allowable vapour velocity

3. Static sub mergence

e

. Length of straight rectangular weir

Options :

68634026785. 1
68634026786. 2
68634026787. 3
68634026788. 4

Question Number : 97 Question Id : 6863406770 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIEa Biad & &y 1yl
1. Szifae wiel &1 g

i arsaan

3. ifces farsH

4. @3 HOADR AR B g

| ]

Options :

68634026785. 1
68634026786. 2
68634026787. 3
68634026788. 4

Question Number : 98 Question Id : 6863406771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Which of the following is not an example of an analgesic medicine?

1. Phenacetine

2

. Paracetamol

L 5]

. Chloramphenicol
4. Morphine

Options :
68634026789. 1



68634026790. 2
68634026791. 3
68634026792. 4

Question Number : 98 Question Id : 6863406771 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafifaa # 9 9 91 te dieer siwsft o1 Saur 2 g 0
1. AR
2. WifgeriE

3. FARHBAIGIE
4. T

Options :

68634026789. 1
68634026790. 2
68634026791. 3
68634026792. 4

Question Number : 99 Question Id : 6863406772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Essential oils are usually obtained using

1. Steam distillation

-2

. Extractive distillation

LF5]

. Solvent extraction
4. Leaching

Options :

68634026793. 1
68634026794. 2
68634026795. 3
68634026796. 4

Question Number : 99 Question Id : 6863406772 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. dT8F 3fTHa—
2. et srgae
3, fgemge frseor
4. FFrameE

Options :

68634026793. 1

68634026794. 2

68634026795. 3
68634026796. 4

Question Number : 100 Question Id : 6863406773 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following process sequences 18 used in the sugar industry?

1. Ca,HPO,/ Lime treatment — Crystallization — Crushing
2. Ca,HPO,/ Lime treatment — Multiple stage evaporation— Crystallization
3. Crushing — Crystallization — Ca,HPO,/ Lime treatment
4. Multiple stage evaporation— Crystallization — Ca,HPO,/ Lime treatment
Options :
68634026797. 1
68634026798. 2

68634026799. 3
68634026800. 4
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